[ number of missing inner layers | [ number of missing outer layers |

1 - - - - —{ Entries 217240 1e - - —{ Entries 217240
E Mean 0.1391 F : : + [ Mean 1.306
F Std Dev 0.3516 | .Std Dev 2.062
L : ; : I | R L ; I
107 Entries 219093 107E [Entries 219093
F Mean 0.1382 F Mean 1.309
C Std Dev_ 0.3503 C Std Dev 2.052
2L eieitii.idi... 2k et
10 3 Entrles 219702 10 3 Entries 219702
F Mean 0.1335 F Mean 1.302
a[ Std Dev 0.3453 a[ Std Dev 2.046
107°F S EELE EELEE 107°F :
o Entries o Entries 213265
r Mean r Mean 1.466
10_4 Std Dev 10_4 Std Dev 2.083
10°F (O Pkt oo
010U ....I....I....I........I....I....V....I....I.... 01([6‘ NIRRT R PP B
2 Eo S = F : : : :
I E H | © o -
@ 1IF : x 1i- R B B A
Eo ; ] [+ : -
| S T o
0.95f -~ =smmrees = - :
E 0 —4 S F T :
0.9t 0.9t -
0 05 115 2 25 3 35 4 45 5 0 5 10 15 20 25
——— i T original
—— DQMfmkFlt TT_JanUpdate-noErr
mean hif == DQM_mkFit_TT JanUpdate-statErr
e DOM_mKkFit_TT JanUpdate-systErr
= 20 - - - - - r - - - - —| Entries 217240
" : : : : L : : : : | Mean 12.21
> 18F Std Dev 5.747
A 8 104 | i g T T i
2 16 F Entries 219093
% - Mean 12.15
B 5.715
14 3
10 E 219702
12 r Mean 12.06
N 5.663
10 I
E Entries 213265
10%F
F Mean 11.77
- td Dev 5.641
10
2 L
r : : : : : 1
bo'....i....i....i....i....i.... E
S = : i : N 8 E
IS E T
@ Leer s @ L
F + 0.8_— """""
0.95F- 3
0.9t L i . . . . .
=3 0 5 10 15 20 25 30 35 40
track hits
Entries 143225 Entries 224212
Mean 2.115 Mean 1177
Std Dev 5.971 Std Dev 3.608
. [ 10 i rrrrr T T 1
= Entries 143225 Entries 226185
Y R S S Mean 2.115 Mean 1.168
10 E Std Dev 5.971 Std Dev 3.587
E ; T : 1
B Entries 143225 Entries 226601
3 an 2115 Mean 1.165
10 E LlS‘\E_Dev 5.971 Std Dev 3.579
: Entries 143225 Entries 219476
Mean 2.115 Mean 1.187
107F Std Dev 5.971 Std Dev 3.655
-5
107°F e FRRTT ALY P
o108} 0108 e
= = A
g | 1l ¢
‘llllluulllllll“l” Pt 0 i
;_I'TTTTTTTTTTTTTTT”'|||||‘ o - fed=h
0.95— i i v s 0.95— i s
10 1 10 10 10 10 10? 10
TP P track p_

o



	Contents
	Page 1


